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2.383 x

10.706 x

7.207 %

=1070.6

7.508 x

2.744 x

3.514 x

10.028 x

4.135 x

= 7207

=75.08

=27.44

=3514

= 10028

9.885 x

3.369 x

= 4135

= 98.85

= 3369

5.108 x

=N e

=510.8

2.402 x

= 2402

5.656 x

= 5656

3.92 x

2.207 x

=392

= 2207

9.131 x

=913.1

9.101 x

=91.01

5.83 x

9.788 x

= 583

= 9788

6.944 x

= 6944
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2.383 x 100 = 238.3 5.108 x 100 = 510.8

10.706 x 100 = 1070.6 2.402 x 1000 = 2402

7.207 x 1000 = 7207 5.656 x 1000 = 5656

7.508 x 10 = 75.08 3.92 x 100 = 392

2.744 x 10 = 27.44 2.207 x 1000 = 2207

3.514 x 100 = 351.4 9.131 x 100 = 913.1

10.028 x 1000 = 10028 9.101 x 10 = 91.01

4.135 x 1000 = 4135 5.83 x 100 = 583

9.885 x 10 = 98.85 9.788 x 1000 = 9788

3.369 x 1000 = 3369 6.944 x 1000 = 6944
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